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Quizizz

CLASS :

Algebra 1 Midterm Review Guide
DATE :

48 Questions

1. What s the first step to solving this equation: x + 26 = - 42 >< ‘I’ 2(9’: - ({2

ﬁ a) subtract 26 from both sides (] b) .add 26 to both sides _ ’Z b _ Zé
[ c) subtract 42 from both sides [] d) add 42 to both sides _—

o X =-68

2. Solve for a.
-2 a( @1(—2’%
P~ a T
[ a) a=pw (] b) a=p/w
! c) a=w/p asw+p

3. Simplify each equation. Tell whether the equation has one, B
no, or infinite solutions. , ' _ — _L
L\?LL)e/ 3x-8=3(x-4)+1 \S\/ D\S)V("bd\'e 2x-Y = E(X ( %’
st [J a) one 7(\2 (o(\/\b\(\ ﬂ b) no solutions d \SMMM
, \/c} infinite solutions 3(é \1\1\\L’Q—\->\JL )( )‘-Ql("' SX 9 3 >( 2 _},_l—_
ICC"MQTHJ@-\M# W = X 3—3x~\\
- :—8 Simplify each equation. Tell whether the equation has §ne, ’5 _,5)( .

no, or infinite solutions.

3x-7=3(x-3)+2 - .9 - - {{ im\se

[J b) no solutions

[ ,a) one
\JCI infinite solutions N 6 Solu *\ o

@ Help o 7:
o e
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5. Simplify each equation. Tell whether the equation has one,
no, or infinite solutions,
5% +6=2+3x

[J a) one [J b) no solutions

[J ¢ infinite solutions

6. 14<-2a+6-2a

[J a) a>-2 (] b)a<-2
0 oa>2 [0 d)a<2
7.  Solve:3(x-2)=2(x+9)

[ a) x=24 O b) x=12
O ¢) x=-12 O d) x=-24
8.  Solve:6x+10=5x-12

O a) x=2 O b) x=-2
[ ¢) x=-22 O d) x=22

9.  Solve the literal equation for y:

8x - 2y 12

a]y 4% -6 \S\’ ( ;\ U(\k

c}y‘ 2(\4 +g*

10. Solve: \\)

dx+1+10x+7=2(7x-4)

[] a) All real numbers
[J ¢ x=-2
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)< (5x?—3x—1)— (2x2+x—7) Simplify.

L) a) 3x2-4x+6 [ b) 7x2.4x+6
U 9 10x4-3x2+7 U d) 742.2x-8

4 5 e
12.  Which expression represents "7ﬁve times a
nu?‘ﬁber"? 5_5)< —\- 7

s‘{a) 7+5x |S /& b) 5(+7)
ﬂc) 7(x+5) d] 5x+7 \S + ‘Mmes ‘\'b"e

Seven e ic So (\o)‘ Sum of )“0"&7
‘\"\e SuMDQXm mM\Mh

3. Consider the expression 3n2% n + 2. What are the

coefficients? X . '
Q .’) \ A ot W it s a skt
\56 Q3 TH: \I\'Q‘(\)/\ O d) 4
ok o\ ,'410){ N
14. Consider the expression 3n? + n + 2. What is the
ST e 4 wikhe

003 ﬂ\}a/ﬂ\b"( O d) 4
W+ dpes AT CI"""j( 50 (oS (o/\

15. Consider the expression 3n2©n@2 How many terms

S _(_7'/\'\'\\

are there? —_ = -
0 a1 1 b)2

g/qa TQ(NS afeff{oﬁwdg d) 4
oy +oc - ¢
) 0¢
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O +§§lb f: Vﬁb) 2a+2b+4
1 ¢ 8ab QO\"’Z\O"'L{ 1 d) 4ab+4
4 e
17, Solve for iey. Av + ) 8 ‘ + D‘.S*‘r' d-
aaz d oo ° bo g 014
N T L - e
e lO!’/"( \
18. Solveforx.3x+2%3\x-\zr/)=3"6’z :y 2/]& (am “_(Ym S
O a4 0 b3
002 1 B ’kym d) 1 (c'] 0o -
Yv ~ 90 L Undo " T
19. __——The sum of the angles is 180°. Find the value of x ) ‘/ C
{ W ngetange tangle =@
V=lo INGRAS 20|
da)x=25 Db)x=5§_)i+/—v‘§+ﬁ %
O c) x=35 O d) x=6 {BO
bx +50
0. 14<:2246-22 m/ __FB() ‘%O
DT M e ware 20 o
- ¢ L (e,,;(i)»( /é -
21, |x-2]=-5 8’ < -'L((A O\ <_2 _ ‘é
O a) x=-3,x=7 //L( b) No Solution y -7 S
[ ¢) Infinitely Many Solutions =-7,x=
Mary " N o ﬁfll;f 0
FO"’W\/ - s A
Sl'é‘e ]O\JSII'hU‘(
Z,{ I [ < Te
C express,,, m _ 2\ (.5
on ‘“AA'\' SI.Cl"{ q
Wwhen Vou L Gbsol vk Ualue
o frenthe | iighe o
0 | alweys comg
ot pogihue
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2. What is the absolute value of |-26].

a) 26 [J b) 26
0 \JIA\UL O d) -20
Lok L 1o
e é\
N oY g [= 7
G a ¢, 15% +q [ b) {-1,-5}
0 o {1515} Case \ (‘dsem d) No Solution

-
VL W Case

24, | 2x+9]=15

- Z <-| - -
[0 a) x=3 V- \ID b) x =3 2x+0\ 'g
(\(ASL \ X =-6
[0 ¢ x=3 — O dyx=6
x=-12 2x¥4=15 x=-12

7 cases

25. -2|-2r-4| =
_—-_"

Oa T2 =2 O b) ¢5-1 = ?OS.A‘I\\“ :(\%t\h"
0 o {51} l-‘z(—_,Lt\ - (o [J d) No Solution
rd
~2r-4 =6 v -Y=-6

26. Write the sentence as an inequality.

The sum of twice a number y and 4 is at most 20.

O a) 2y +4 < 20 O b) 2y +4 > 20

O c}g+4<20

27. Write the sentence as an inequality.

The temperature t is at least 59°

L] a) ¢t>59° L] b) +<59°
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O
O

28.

29.

30.

31.

32.

Write the sentence as an inequality.

The cost of a ticket £ will be no mare than $45

a) t <45

11 <z—-3

Solve the inequality.

a > -8

A x< —14

Solve the inequality.

—6e < 24 + 6e
a e> —2
A e< -2

e) No Solution

(] b) t>45

0 b) 2 < —8

Ud z>-14

(b)) e<—2

] d) All Reals

When you graph an inequality, you use a closed dot when

you use which symbols?
a) 2

c) 5 <

[1b) <>
O dz>

When graphing an inequality, you use an open dot when

you use which symbol?
a) <, >

c} g! {
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£
33. e P i ./. e g Pick the correct letter for: .
@ -15-12-% -6 -3 0 3 & 9 12 15 6% X (((//(I-)—e SD y \ S On
-15-12 9 - -3 0 3 §>9 12 15 4 Q \I\ \ ﬁ
C. o P o X -o\' Q e -{-
0 s
5429 630 3 8 9 A8
L] a)A 0 b)B
Ooc JdDb
34, = 5 + + § : (; = Match the graph with its inequality.
[ a)b>-2 0 b) b<-2
[1¢gbz-2 [1dbs-2

35. L What inequality does the number line graph represent?

[] a) x<-4 O b) x=-4
[J ¢ x<-4 ] d) x<4

36. What are two numbers that could be xin x <87
[ a) 86,79 (1 b) 11,16
[ ¢) 08,59 O d) 12, 7.1

37. Would you use a closed or open circle to graph x <37

[ a) Closed [J b) Open
38. LU gy \Vhat inequality does the number line graph represent?
] a) x=3 (] b)x>3
[1 ¢ x<-3 [1d)x=s3
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39. J—wi-—ld-—lul—-l— What inequality does the number line graph represent?
65432-1012 34 56
[ a)x=5 ] b) x<-5
[J ¢ x=5 0 d) x=-5
20 L What inequality does the number line graph represent?
[] a)x<-4 (] b)x=-4
[0 ¢ x<-4 (] d)x<4
41, A —— e Which graph matches the inequality
B) ® k<3?
5545240 T 254 567
Q) °
T 6-54-32-10123 45067
D) -
T6-54-3-2-10 12 3435617
Ja) A (] b) B
Joc 0dD
42, A) SRS Sy p ey o Which graph matches the inequality
B) : > 2>p?
) - ;
=16 432401 34356
D) <
T-65-4-3-2-10 123 435 €7
O a) A 0 b)B
[locC ] dD
43, R Which graph matches the inequality
B) w—t + P r=-67
C) = =
D) _ : #*
[1a)A ] b)B
Oogc 0 d)D
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44,

45,

46.

47.

48.

1) 16+4n<Tn-2 Solve and graph the inequality.
A) n<-32:
B) n<6: ) o
C) n>-32: Dt
D) n>6: 1—0—0—0—-—0—-—.:.—;—-—;.-
a) A 0 b) B
o C [JdD
2) Sk+7<Tk+7 Solve and graph the inequality.
A) £<0: gttt
-4 =2 0 2 4 &
B) £<-2 ittt
N R
D) £<0: 4-——;—-;—»—-1—v—1—0—1-h-
- ] 2 4 [
a) A [l b)B
g C ] d) D
Is x =9 a solution to the given inequality.
X>9
a) TRUE [] b) FALSE
Is x = 12 a given solution to the inequality.
x>5
a) TRUE ] b) FALSE
Is the following item an expression, equation, or inequality.

13+6

a) Expression [] b) Equation

) Inequality
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Answer Key
1. a 13, ac
2. ¢ 14. b
3. b 15. ¢
4. ¢ 16. b
5 a 17. b
6. b 18. d
7. a 19. a
8. d 20. b
9. a 21. b
10. b 22, a
1. a 23. a
12. ad 24. ¢
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25.
26.
27.
28.
29.
30.
31.
32.
33.
34.
35.
36.

[ T o T = T oo N« VI « W « VI « VI « VRN « VRN « TR |

37.
38.
36,
40.
41.
42,
43,

45,
46.
47,
48.
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